2009-2010 6TH GRADE CONTEST

Answers

28.

(8+10+12)+ (8+10-12) + (8 +12-10)+ (10 + 12— 8) =
A)(8+10+12)  B)2x (8+10+12) C)3 x (8+10+12) D)4 x (8+10+12)

28.

29.

If a whole number between 100 and 999 has three different non-zero
digits, what is the least possible value of the sum of its digits?

A) 7 B) 6 Q) 4 D) 3

30.

In 20 years, Ed will be 31 and Di will be 35.
The sum of their ages now is

A)26 By46 C)8 D) 106

31.

What month is 1000 months after March?
A) March B) May C) June D) July

32.

The ones digit of the product 123 x 456 x 789 is
Ay 1 B) 2 C) 3 D) 4

29,

33.

An equal number of pennies, nickels, and dimes have a combined
total value of $2.40. The total value of the nickels is

A) 15¢ B) 50¢ C) 75¢ D) 95¢

33.

34.

(2010 - 2005) X (2005 — 2000) X (2000 — 1995) X ... X (10 -5) X (5-0) =
A) 5402 B) 5%01 C) 5 x 402 D) 5 x 401

34.

35.

Two equilateral triangles share sides with a

square, as shown. If a side of the square has a ! !
length of 4, what is the perimeter of the figure? : ;
A) 48 B) 40 C) 32 D) 24 : :

35.

36.

If there are 420 students in my school, then the ratio of boys to girls
in my school cannot be

A) 3.7 B) 59 C) 11:14 D) 17:18

36.

37.

300% of 300 = _?2_% of 3000 A)10 B)25 C) 30 D) 50

37.

38.

Bricks weigh 3 kg or 7 kg each. Cy picks up at least one brick of each
size. The total weight of bricks he picks up cannot be
A) 21 kg B) 27kg
C) 30kg D) 39 kg

39.

The smallest prime number that is a
factor of (1 x 2 X 3 x ... x 30) + 1 must be

A) less than 10 B) between 10 &20
C) between20 & 30 D) greater than 30

40.

How many whole numbers from 1 through 500
have a 3 as the hundreds digit or ones digit, but not as both?

A) 130 ‘B) 140 C) 150 D) 160

38.

39.

40.

The end of the contest (2} 6
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Instructions

6

Time Do not open this booklet until you are told by your teacher to begin.
You might be unable to finish all 40 questions in the 30 minutes allowed.

Scores Please remember that this is a contest, and not a test—there is no
“passing” or “failing” score. Few students score as high as 30 points
(75% correct). Students with half that, 15 points, should be commended!

Format, Point Value, & Eligibility Every answerisan A, B, C, or D.
Write answers in the Answers column. A correct answer is worth 1 point.
Unanswered questions get no credit. You may use a calculator.

Copyright © 2010 by Mathematics Leagues Inc.
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